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PARTIAL FRACTIONS

Solved Examples

111 A
11 v B

C
= + + then B =
(z+1)(z + 6)(z — 4) r+1 x+6 x —4

A —12
- 25

B —43
"~ 50

67
C. =0

b —67
"~ 50

Answer: C

e


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hWXeixbtU7Ui

| ¥ Vvatch Video Solution

2.If 2 = 4 + B ,then AB =
zt+22+1 22—z+1 224z+1
A -1
B.1/2
C.1
D.2
Answer: A
° Watch Video Solution
3.0 (xzﬁff)r(iojw& - ‘Sfjl?’ + ——5 thenk=
A. 15
B.5



https://dl.doubtnut.com/l/_hWXeixbtU7Ui
https://dl.doubtnut.com/l/_D3EwhQPPZmST
https://dl.doubtnut.com/l/_YGOiVgVeTRFD

D.-15

Answer: D

° Watch Video Solution

Tr — 1 1
4, If is expanded in ascending powers of x when |z| < —
1 — 5z + 622 P &P 2] 3

then the coefficient of 2" is

A(—=5)2"+4-3"
B.5-2"+ (—4)3"
C.—52"+4-3"

D.5.2" + 4.3"

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_YGOiVgVeTRFD
https://dl.doubtnut.com/l/_STisTbgFFOvs

1. The remainder obtained when the polynominal
1+z+ 2> + 2% + 2% + 28 + 22 is divided by x-1is

A3

B.5

C.7

D. N

Answer: C

° Watch Video Solution

2. The remainder obtained when the polynominal 2+ 22"+ 1 s

divided by x+1 is

Al


https://dl.doubtnut.com/l/_qTu9P2yGoIs8
https://dl.doubtnut.com/l/_HpmwYP4NVfPJ

C.2

Answer: A

o Watch Video Solution

3. The remainder obtained when the polynomial z* — 3z + 22 — 3 is

divided by x-2 is

A3

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_HpmwYP4NVfPJ
https://dl.doubtnut.com/l/_1dZF2RXLIYVw
https://dl.doubtnut.com/l/_dTYb9WsUyC7z

4. The remainder obtained when the polynomial
z* — 32% + 92° — 27z + 81 is divided by x-3 is

A. 81

B. 243

C. 405

D.18

Answer: A

o Watch Video Solution

5.1f the remainders of the polynomial f(z) when divided by x — 1, 2 — 2

are 2, 5 then the remainder of f(x) when divided by (z — 1)(z — 2) is

A.O
B.1

C.2


https://dl.doubtnut.com/l/_dTYb9WsUyC7z
https://dl.doubtnut.com/l/_DCu1BZP8D1JP

D. 3x-1

Answer: D

° Watch Video Solution

6. If the remainder of the polynomial f(z) when divided by z 4+ 1 and
& — 1are 7,3 then the remainder of f(z) when devided by z? — 1 s

A. 3x+5

B. 2x+7

C. 2x+5

D. 3x+7

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DCu1BZP8D1JP
https://dl.doubtnut.com/l/_D3r1NgeUVrik

7.1f the remainders of the polynomial f(z) when divided by z — 1, — 2
are 2, 5 then the remainder of f(x) when divided by (z — 1)(z — 2) is
A1
B.z> +3z +7
cz’—z+1

D.z2+z +1

Answer: C

o Watch Video Solution

8. The remainder of the polynomial f(z) when divided by
z+ 1,z + 2, — 2 are 6,15, 3 the remainder of f(z) when divided by
(z 4+ 1)(z +2)(z —2)is

A 2x* — 3z + 1

B.3z2 — 2z + 1


https://dl.doubtnut.com/l/_JOOWglMsyDff
https://dl.doubtnut.com/l/_lTvxrAVsro19

c2z> —z -3

D.3z2 — 2z +1

Answer: A

o Watch Video Solution

9. Resolve into Partial Fractions
hr +1
(z +2)(z — 1)

(i)

3 2
+

A.

T+ 2 z—1
2 3
B'w—|—2+:c—1
3 2
a:—2+a:—|—1
2 3
w—2+x+1

C.

D.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_lTvxrAVsro19
https://dl.doubtnut.com/l/_AZzXFGEuo4L1
https://dl.doubtnut.com/l/_7ehLIa0mQ1gA

O De—2
9 7
x+ 2 z—1
B. 9 7
x — 2 z—1
9 7
T+ 2 z+1
D 9 T
x — 2 z—1
Answer: D

o Watch Video Solution

11. Resolve the following into partial fractions.

3 +7
x2 —3x + 2
A 5 n 8
z—1 r— 2
13 10
B. —
T — 2 r—1
8 5
C.
z—1 r — 2
2 3
D.



https://dl.doubtnut.com/l/_7ehLIa0mQ1gA
https://dl.doubtnut.com/l/_MPr6Zdl67Eyn

Answer: B

° Watch Video Solution

1 —
12. R
1 1
A
ala —z) 2a(a+ )
B 1 1
"3a(a —z) 2a(a+z)
1 1
C.
2a(a —z) 2a(a+z)
1 1
D +
2a(a —z) a(a+ x)
Answer: C

° Watch Video Solution

a(zr —a) 2a(z + a)


https://dl.doubtnut.com/l/_MPr6Zdl67Eyn
https://dl.doubtnut.com/l/_HkXTOBojAf1j
https://dl.doubtnut.com/l/_Iygilu0swSX3

B.
3a(z —a) 2a(z + a)
1 1
C. —
2a(z —a) 2a(z + a)
1 1
D +

Answer: C

° Watch Video Solution

1
14. The partial fractions of are
(z —1)(z+1)(z —2)

A 1 n 1 B 1
6(z+1) 2xz+1) 3(z—2)

B. = — ! + !
6(z—1) 2xz-1) 3(xz+2)

C. = + = + !
6(z+1) 2z—-1) 3(z+2)

1 1 1

> 6(z+1) 2(x—1) * 3(z — 2)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Iygilu0swSX3
https://dl.doubtnut.com/l/_IrJ3zHPpxghx
https://dl.doubtnut.com/l/_TTtlJ8tj0aQR

1
15. The partial fractions of (1 —z)(1—2z)(1 — 3z) e

1 n 4 9
2(1+2) 1-2z  2(1- 3z)
1 4 9

201—z) L1+2z 2(1- 3z)

1 4 n 9
21—=2z) 1—-2z 2(1-3x)

o 1 L4 9
21 +z) 1-2z  2(1-3z)

B.

C

Answer: C

o Watch Video Solution

C.6

D.8


https://dl.doubtnut.com/l/_TTtlJ8tj0aQR
https://dl.doubtnut.com/l/_P8vaUem9KIJS

Answer: D

° Watch Video Solution

17.
1 A,

rlin—r)!
r!

D.—
(n—r)!

Answer: B

n

0<;

° View Text Solution

B2t _
3 —x



https://dl.doubtnut.com/l/_P8vaUem9KIJS
https://dl.doubtnut.com/l/_aNtbEcFmI7q7
https://dl.doubtnut.com/l/_lYWLcxw2DMt2

1
A +
2(x +1)
1
B. —
2(z + 1)
c 1
2(z + 1)
1

2z +1) 20z -1

[\
—
N—

_I_

[\
—

N
—~
8 8 8
— — [
N—r N—

8| 8|0 8| 8|

D.

+

Answer: A

o Watch Video Solution

2c% — 1
19. =
(z — 1)(222 + 5z + 2)

1 7 2
A

0z —1)  9z+2) 92+l
1 7 2

9wt 9@-2 92-1)

c—+ T L, 2
az—1) 9z—2) 92z +1)

N S S
9z —-1) 9(z+2) 92z-1)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_lYWLcxw2DMt2
https://dl.doubtnut.com/l/_cJwP5EcQFyM1

52 — 3z + 4 B
" (x4 1)(22 — 5z + 6)

1 6 10
A':L'—I—1+:L'—2_:c—3

1 6 10
S T¥1 T2 z-3

1 6 10
Cw—l x—2+a:—3

1 6 10
D. +

Answer: B

o Watch Video Solution

4
21.Resolve into partial fractions.

(z —1)(z —2)

1
A.az2+3x—|—7—x +

2 1
B.z° — 3z + 7 — +
x

1
C.x2—|—3m—7+w +


https://dl.doubtnut.com/l/_cJwP5EcQFyM1
https://dl.doubtnut.com/l/_pizCtgSZyO2F
https://dl.doubtnut.com/l/_AAjVIlXQIVNt

D.z> — 3z + 7 ! + 16
.z — 3z —
rz+1 r— 2
Answer: C
° Watch Video Solution
23
22.Resolve into Partial fractions.

(2z — 1)(z + 2)(z — 3)

AL N 1 8 L7
"2 502z —1)  25(z+2)  25(x — 3)
1 1 8 27
B.— — - +
2 502z —1) 25(z+2) 25(z — 3)
1 1 8 27
C =+ - -
2 502z —1) 25(z+2) 25(x —3)
1 1 8 27
D. - — + -
2 502z —1) 25(z+2) 25(x +3)
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_AAjVIlXQIVNt
https://dl.doubtnut.com/l/_xtAMNEsjrmVE

23.

3

(22 — 1)(z + 2)(z — 3) B

A1/2
B.—1/50
C.—8/25

D.27/25

Answer: A

A+

B

C

2x—1+

T+ 2

° Watch Video Solution

3
24.w2m—3ac5+2 B
4 3
A.a:—|—3—$_1 oz -2
B.x +3+ 4 + ]
z—1 x—2
4 3



https://dl.doubtnut.com/l/_otNovcx342uu
https://dl.doubtnut.com/l/_hfyWbP1CdtqI

Answer: B

° Watch Video Solution

22+z+1 B

25.If = A+
z2 42z +1 z+1 (4 1)

+

5 then A-B =

A 4C
B. 4C+1
C.3C

D.2C

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hfyWbP1CdtqI
https://dl.doubtnut.com/l/_zKVZYyKsqubT
https://dl.doubtnut.com/l/_c5UNZwOJQCqx

A5

B.4

C.3

D.1

Answer: D

o Watch Video Solution

a7 — %  thenA-
-1 $+1_3;2—]_’ en A=

A.O
B.1
C.2

D.3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_c5UNZwOJQCqx
https://dl.doubtnut.com/l/_JWvLDF8Iv04X

2z — 1 1
:c — k ,then k=

28. =
(z—1)(2z+3) 5x—1) 52z +3)

A0

B.1

C.2

Answer: D

° Watch Video Solution

5z + 6 11
29, If = th =
2+2)(1—2) 31—z Yy

—4
3(2 +x)
4
3(2+x)
2
3(2 —x)

A.

B.

C.


https://dl.doubtnut.com/l/_JWvLDF8Iv04X
https://dl.doubtnut.com/l/_oKo2VlK5zx5R
https://dl.doubtnut.com/l/_pRZe4XYAXEzE

3

D. ———
2(2 + )

Answer: A

° Watch Video Solution

A
30.1f 2% +4

x2 —3x+2 Tz -2
A.(7,10)
B. (10, 7)
C.(10,-7)

D. (-10, 7)

Answer: B

B 1 then (A, B) =

° Watch Video Solution

% + 3
311 Tt -

z+D(z-3) z+1 z-3

,thena+b-=



https://dl.doubtnut.com/l/_pRZe4XYAXEzE
https://dl.doubtnut.com/l/_n9WiqVrpPFe4
https://dl.doubtnut.com/l/_qNNwVBf6dVQP

A. 1
B.2
c.9/4

D.—1/4

Answer: B

o Watch Video Solution

32.If 1 = A + B then 2B =
T _20)(1+3z) 1-2z 143z 0

A A

B. 2A

C.3A

D.—34

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qNNwVBf6dVQP
https://dl.doubtnut.com/l/_Kn4Zawz9yT8P

z+1 A B
. ( ) = + = 16A + 9B =
(22 — 1)(3z + 1) (2z — 1) (3z + 1)
A 4
B.5
C.6
D.8
Answer: C
° Watch Video Solution
z? — 10z + 13 A B
34.If = ,thenC =
(x — 1)(2% — 5z + 6) 71 z-2  p_g M

A. -3

B.2



https://dl.doubtnut.com/l/_Kn4Zawz9yT8P
https://dl.doubtnut.com/l/_CYcbktUm3xxa
https://dl.doubtnut.com/l/_aSpfot9lSFTC

D.5

Answer: C

° Watch Video Solution

22+z+1 B

35. If = A+ =+
z2 42z +1 z+1l (X +1)

2,thenA—anLCZ

A.O0
B.1
C.2

D.3

Answer: B

° Watch Video Solution

36. I 2! 1 10 2 2 kthenk
. = — z° —x + k,then k=
(z—1D(x+2) 3xz—-1) 3(xz+2)



https://dl.doubtnut.com/l/_aSpfot9lSFTC
https://dl.doubtnut.com/l/_C1NJQafaLwCc
https://dl.doubtnut.com/l/_EHFCv6CAz66p

A.O

B.1

C.2

D.3

Answer: D

o Watch Video Solution

z? + 2 Az +B Cz+ D
37.1f = then A+ C+ D =
(22 + 1)(2? + 3) z2 +1 * 213 e

A.O

B.1

C.1/2

D.2/3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_EHFCv6CAz66p
https://dl.doubtnut.com/l/_n8s4qp5Q5aj3

3z + 2 A Bz + C
38.1If = + , then A+ C — B =
(z+1)(222+3) z+1 222+3 AT

A.O

B.2

C.3

D.5

Answer: B

° Watch Video Solution

39. If L 2 ! . then k
) mz—l_k x—1 x+1 e -
A.2
B.3

C.4


https://dl.doubtnut.com/l/_n8s4qp5Q5aj3
https://dl.doubtnut.com/l/_Q5aC4umOG7eR
https://dl.doubtnut.com/l/_82V3Bh9CDivS

D.5

Answer: A

° Watch Video Solution

B.4

C.6

D.8

Answer: C

o Watch Video Solution

1
4.1 = + - then a =


https://dl.doubtnut.com/l/_82V3Bh9CDivS
https://dl.doubtnut.com/l/_hjOiAiKEh7Xp
https://dl.doubtnut.com/l/_kHnJDJlAIFjG

A1l

B.2

C.3

D.6

Answer: C

o Watch Video Solution

1
42.If = + , then k =
(z—Kk)(z+1) =z—-k z+1

A 8
B.4
C.16

D. 2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_kHnJDJlAIFjG
https://dl.doubtnut.com/l/_SHWtzQ5O1lif

3
43'If(w—2)(w—l—k) = x—2+m—|—k then k =

A.O0
B.1

C.3

Answer: C

° Watch Video Solution

2 1
44.1f z+3 = ? — then k =

(z—3)(z+k) 4(xz—-3) 4z+k)

A.O0

B.1

C.2


https://dl.doubtnut.com/l/_SHWtzQ5O1lif
https://dl.doubtnut.com/l/_Cpxk3Dsn5rxU
https://dl.doubtnut.com/l/_vw1hen51dwwL

Answer: B

° Watch Video Solution

3z — 6 2 1
45.If = + then k =
(z—6)(z+k) x—-6 zx+k

A.O

B.1

C.3

Answer: A

° Watch Video Solution

46. If then k£ =

z2 — bx — 2k - r—2 x4k’


https://dl.doubtnut.com/l/_vw1hen51dwwL
https://dl.doubtnut.com/l/_0o9gsJwQu4WZ
https://dl.doubtnut.com/l/_swOs0q2fITie

C.2

D.3

Answer: A

o Watch Video Solution

a2t 2 b

(z —a)(z — 3) T —a 73’ then (a,b) =

A.(7,-1)

B.(-4,1)

C.(4,1)

D. (-4,-1)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_swOs0q2fITie
https://dl.doubtnut.com/l/_JU4PrASgy2wb

C.1:3

D.3:1

Answer: B

o Watch Video Solution

2
49.53 —|—5(L’—i;7 _
(z+1)

1 3 2
A. -+ 2—1— 3
z+1l  (z41) (z +1)

B 1 n 2 n 3
2+l (z42?  (z+1)°

1 3 3

_|_

C. +
e+l (z+1?  (z+1)°



https://dl.doubtnut.com/l/_JU4PrASgy2wb
https://dl.doubtnut.com/l/_xpA2ZdZKAaAw
https://dl.doubtnut.com/l/_o93QjXTDljz4

b 2 4 1 3
rHl (2412 (z+1)°

Answer: C

° Watch Video Solution

z* + 2422 + 28

50. Resolve 3 into partial fractions.
(z* +1)
1 22 5
A — T 7 T 3
e +1 (22 41) (2 +1)
1 22 5
B.-—5 * 2 2
2+ 1 (22 1) (22 + 1)
1 22 5
€ +1 (.2 2 2
z (22 +1) (22 + 1)
2 15 10
D.

2 o s T 2
e +1  (22+1) (2 +1)

Answer: A

o Watch Video Solution

4+ 1822 + 22
51. The partial fractions of + 1827 + are

(22 4 2)°



https://dl.doubtnut.com/l/_o93QjXTDljz4
https://dl.doubtnut.com/l/_52PKwpglklm1
https://dl.doubtnut.com/l/_xFH9p1aroTXb

A.

1 14
+

(2 +2)% (22 +5)°
1 14 10
B. 2 + 2 3
(22 +2) (2242 (22+2)
1 5 11
: + 7 T 3
z+1l (2243 (22+2)
D. none
Answer: B
o Watch Video Solution
52.
322+ 2 +1 a b d a b
1 + > T 3 1
(z — 1) r—1 " (z-1) (z — 1) (z — 1) c d
A (3 77
'_5 0 |
8 [0 37
'_7 5
c [0 77
13 5]
5 (3 5]
'_7 0

Answer: B


https://dl.doubtnut.com/l/_xFH9p1aroTXb
https://dl.doubtnut.com/l/_YlGTjIQpNqv7

° Watch Video Solution

53. Resolve the following into partial fractions.

3z2 — 8z%2 + 10

(z —1)*

A 3 n 1 B 7 n 5
z-1 (z-1° (z-1° (z-1)*

B. 3 B 1 7 _ 5
z-1 (z-1° (z-1° (z-1°

C 3 1 7 5
z-1 (z2-1° (z-1° (z-1)

. 3 B 1 7 5

Answer: A

° Watch Video Solution

2x3+3x2+5x—|—7a

54.The partial fractions of s
(x +1)

re

2 5 3 2
A 2 3 T i 5
(z+1) (z+1) (z+1) (z+1)



https://dl.doubtnut.com/l/_YlGTjIQpNqv7
https://dl.doubtnut.com/l/_6efBZqKMFLGC
https://dl.doubtnut.com/l/_KgNFMohMjB73

3 2 5 3
B. - + +

(z+1)* (241" (2+1)" (z+1)°
c 5 B 2 N 3 N 2
(241’ (e+1)P @+t (@+1)
b 2 B 3 N 5 i 3
@+ @+ @+ (z+1)°
Answer: D

° Watch Video Solution

z2+5 1 k

55.If +
(22 + 2)2 z2 + 2 (22 + 2)2

then k£ =

Al

B.2

C.3

D.4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KgNFMohMjB73
https://dl.doubtnut.com/l/_iG4f7wjdT7Rf

B C
56.f ————— = —+ —F + —, then A+ B-C=

B.1
C.2

D.3

Answer: A

° Watch Video Solution

If

2 _ A B
z 53:—';7: + >+ © 5 then A+B-C=
(z —1) 2=l (@-1)" (z2-1)

B.3

C.o


https://dl.doubtnut.com/l/_Mtw4FBe84ZCs
https://dl.doubtnut.com/l/_nkKgGKz3UNJZ

Answer: D

° Watch Video Solution

58.
32> +x+1 A B

C

D

@1t 71 (zo1)

A.O0

B.15

C.1

D.10

Answer: C

(z—1)°

(2 - 1)*

If

then A + E

° Watch Video Solution



https://dl.doubtnut.com/l/_nkKgGKz3UNJZ
https://dl.doubtnut.com/l/_ZdmItzgtayAK

z+1 A B ¢ D E
5. ——— = —+ — + — + — = B+D+E=
iz +2) =z a2 :1:3+:c4+a:+2 +
A A+C
B. A-C
C. 2A+C
D. 2A+2C
Answer: A
o Watch Video Solution
1
60. - =
(z —D%(z+1)
1 1 1
— + 5
Az+1) 44z-1) 2z-1)
B 1 1 1
Az 1) 4z+1) 2z 1)
c 1 1 1
Az —1)  Az+1) 2>z —1)
b 1 1 1
Az +1) Az+1) 2>z — 1)



https://dl.doubtnut.com/l/_TszNCMuAxNeA
https://dl.doubtnut.com/l/_dQykEYtfptxf

Answer: A

° Watch Video Solution

1
6. xj —
(z — 1) (xz — 2)
A 3 3 2
T — 2 x—1 (m—1)2
2 3 2
B. — —
T — 2 r—1 (a:—l)z
3 2 2
C. — —
r— 2 rz—1 ($_1)2
2 3 3
D. — —
Tz — 2 z—1 (:1:—1)2
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dQykEYtfptxf
https://dl.doubtnut.com/l/_YXim8TXhUnpS
https://dl.doubtnut.com/l/_c5a5CzIsWZjM

T
z+1 (x+1)?> T 22
c——r— -2
e+l (z4+1? = 2
SSE S T
z+1  (z+1)? T &

Answer: A

° Watch Video Solution

4
63—~ 2
(z—1)(z+1)
Az tld—— T
. L
4(x — 1) 2(m_1)2 4z + 1)
5
B.xz +1+ + +
Az —1)  2z-1)° 4=z+1)
3
Cz+1+ + +
Az —-1) 2z-1)?* 4z+1)
Dzl —> 4 T
. L
(z-1) 2@-172 4=z+1)
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_c5a5CzIsWZjM
https://dl.doubtnut.com/l/_hIxT3HzNJwaX

64. Resolve the following into partial fractions.

2X2% + 2z +1
z3 + 2
JNEE
r x?2 z+1
B4 —
x x2 z+1
Ctp—
x x2 r+1
S -
x x2 x+1
Answer: D

o Watch Video Solution

65. If

4 C D E

x+‘:’m+1 — Az + B+ 1 s+ then A + D
(x + 1)z —1) z+l  (z4+1)° =-1

A.2

B.2


https://dl.doubtnut.com/l/_ypH0cCJL3fhx
https://dl.doubtnut.com/l/_1WBcJwcwNeut

C.3/2

D.O

Answer: C

o View Text Solution

4 C D E
w;_2 = Ax + B + + >+ then A+ D
(x — 1)z +1) z—1 (z—1)? =+1

A.0
B.1
c.3/4

D.3/2

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_1WBcJwcwNeut
https://dl.doubtnut.com/l/_MRu2tNMsTSdB
https://dl.doubtnut.com/l/_3qyEcDXYuGpv

A
67. 1f 3r +4 _ B

C

(z+1)*(z—-1) =1
A—1/2
B.15/4

C.7/4

D.—1/4

Answer: C

+:L'—i—l+

(z +1)°

then A =

° Watch Video Solution

222 +3x + 4
) (z —1)(z2 4+ 2)

A 3 +2—x
r—1 x2 —2
3 2—x

B. —
x—1 z2+2
c 3 +2—:c
xr—1 2242
3 2—zx

D. —
x+1 x2 —2



https://dl.doubtnut.com/l/_3qyEcDXYuGpv
https://dl.doubtnut.com/l/_0oNFNrjYQutO

Answer: C

° Watch Video Solution

69, 42 — 19z _
(22 4+ 1)(z — 4)
2r — 11 2
A. —
z? —1 r+4
8 2r — 11 2
241 x—4
c 2¢ + 11 2
Cz24+1 oz +4
2¢ + 11 2
D. —
x2 —1 x—4
Answer: B

° Watch Video Solution

x+2
Tx(z2 1)

2 1-—2z
A



https://dl.doubtnut.com/l/_0oNFNrjYQutO
https://dl.doubtnut.com/l/_Aj66zJXTzBNZ
https://dl.doubtnut.com/l/_0ni4zy28ui5N

2 1—2x

‘T x2 —1

2 1-—2x
C.— —

z zr2-1

2 1-—2x
D. —

T x?2 +1
Answer: D

° Watch Video Solution

71. Resolve the following into partial fractions.
2z — 1
(1—z—2%)(z+2)

A T n 1

x2 -z +1 T+ 2

B T N 2

24z 4+1 TH+2
T 1

C. —

2 —z+1 x+ 2

T 2

D.

:1:2—:c—|—1_:1:+2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_0ni4zy28ui5N
https://dl.doubtnut.com/l/_4fxrf4syRIwo

3z +1 B

72, 1 23
A 4 4r — 1
"3(1+=z)  3(1+z - x?)
B 4 dr — 1
"3(1-z) 3(1+z—=x?)
C 4 dr — 1
31—2z) 3(1+z+ x?)
D 4 4r — 1
31+z) 3(1+z+2?)
Answer: C

o Watch Video Solution

T+ a

(a2 +b)(x—a) (a®—0b)(z2+Db)

T+ a

> (a®+b)(z+a) (a®+b)(z2+0b)

T+ a

(@ —b(zta)  (@ib)@ b

T+ a

z—a) (a®2+b)(z2+Dd)



https://dl.doubtnut.com/l/_4fxrf4syRIwo
https://dl.doubtnut.com/l/_ydNpyX0WoUe0
https://dl.doubtnut.com/l/_jNbN515dvDW6

Answer: D

° Watch Video Solution

74. =
xt+1
T+ /2 V2 -z
A +
2\/§<z2 + 12z — 1) 2\/§<:1:2 + 12z — 1)
:c+\/§ \/ﬁ—x
B. +
2\/§(m2 + 2z + 1) 2\/§(w2 — 2z + 1)
z + sqr(2) N V2 -z
2\/5(3:2 + 2z — 1) 2\/5(1:2 — 2z + 1)
T+ V2 V2—x
D. +
2\/§<m2 — 2z + 1) 2\/§<w2 — 2z + 1)
Answer: B

° Watch Video Solution

Tt x4l B



https://dl.doubtnut.com/l/_jNbN515dvDW6
https://dl.doubtnut.com/l/_UkajXi3Yqo6e
https://dl.doubtnut.com/l/_MTHlHJ5QcKCE

A z+1 n 1-z
22 4+z—-1) 2z +2z—1)
z+1 l1-=z
2z —z+1) +2(;1:2—50—1—1)

C z+1 n 1-2z
2z +z+1) 2= -z+1)

D z+1 n l1-z
2x2+xz—-1) 2(z2—2z+1)

B.

Answer: C

o Watch Video Solution

1 Az + B D
76. If z+B , Cz+

A. -1

B.1

C.2

D.O

Answer: D

m4—|—:c2+1:m2—1—x+1 2 —z+1

then C + D =

o Watch Video Solution



https://dl.doubtnut.com/l/_MTHlHJ5QcKCE
https://dl.doubtnut.com/l/_NS9AdP84unzw

2¢ + 1 A

Bx + C

e D@D

z—1
Al/4
B.3

c.1/2

D.4

Answer: C

z?2 +1

then A +B+C =

° Watch Video Solution

2 A
28 If 22 + 3z +4 _

Bz + C

(z — 1)(z2 + 2) z—1
A.O

B.1

x2 +2

I

then B =



https://dl.doubtnut.com/l/_NS9AdP84unzw
https://dl.doubtnut.com/l/_BvDZyhtOi3Ta
https://dl.doubtnut.com/l/_15Cp6lHaup6v

D.2

Answer: C

° Watch Video Solution

Br  5z°+42
22+1 z3+4=z

A
79.If — +
x

Al
B.2
C.3

D.4

Answer: C

° Watch Video Solution

+1)? A
80.Ifu:——|—Bw—+C then sin_1<

Ql b

3+ x 2 +1


https://dl.doubtnut.com/l/_15Cp6lHaup6v
https://dl.doubtnut.com/l/_fSeBLnsQmuWg
https://dl.doubtnut.com/l/_VZUscCitlZBn

o[ w3y a3y ol

Answer: A

o Watch Video Solution

2x3—|—m2—5_A:v+B Czx +1

81 +
zt — 25 x2 —5 x2+5

= (A4,B,C) =

A.(1,1,0)
B.(1,0,1)
C.(1,2,7)

D.(1,1,1)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VZUscCitlZBn
https://dl.doubtnut.com/l/_niRGfmvI53k1

ar — 1
82.If

A.2

B.3

Answer: B

(1—x+x2)(2—|—x):1—ac—|—w2 2+

then a =

o Watch Video Solution

3x3 — 222 — 1 B Ar + B

Cx + D

83. I =
a4+ 2?2 + 1 2?4+ x+1

A.O0

B.1

x2 4+ kxr+1

then k£ =



https://dl.doubtnut.com/l/_niRGfmvI53k1
https://dl.doubtnut.com/l/_FPk1nRpfMlM5
https://dl.doubtnut.com/l/_S3UQrfMVcVIn

D. 2

Answer: C

° Watch Video Solution

84. a =
(z —1)(22 + 1)°

A 1 oz 1 1+
oD WD) @)

B. 1 x4l 1+ 2
4z+1)  4A2*+1) 2322 -1)°

C 1 T 1 11—z
Az —-1) 4(@@*+1)  2z2+1)°

1 z—1 11—z

> A4z +1)  4(z*+1) i 2(z? + 1)°

Answer: C

° Watch Video Solution

(z — 3)(22 +1)°


https://dl.doubtnut.com/l/_S3UQrfMVcVIn
https://dl.doubtnut.com/l/_cYcmNjYbiaUW
https://dl.doubtnut.com/l/_wMWWlH9fDjq3

A 1 B x+3 B x+3
100(z —3)  100(z%+1)  10(z? + 1)°
B. 1 B z+3 B z+3
100(z +3)  100(z* +1)  10(22 4 1)°
C 1 B z+3 B x+3
100(z —3)  100(z* —1)  10(z2 — 1)
. 1 B x4+ 3 B x4+ 3
100(z +3)  100(z* —1)  10(z2 + 1)
Answer: A
o View Text Solution
86 2z — 3 _
(z — 1)(22 +1)°
A z+1 x+5 B 1
422 4+1)  2z2+1)? 4z -1)
B. z+1 x—5 B 1
Az?+1) 22 +1)° 4z —1)
z+1 r+5 1
422 +1) g2 — 1)’ A= +1)
D z+1 z+5 B 1
i@ 1) ae2i1p 4z 1)
Answer: A

| o WAL _L vl . ~_ ..o



https://dl.doubtnut.com/l/_wMWWlH9fDjq3
https://dl.doubtnut.com/l/_jfLWOH23YjpV

LT vYvdallll vIiUCO o0IuULivn )

1 __ A B
(ax +b)(cx +d) axr+b cx+d

87. If then
1

(ax + b)*(cz + d) -

A AB B?
'(am—b)z aw—b+cm+d
s A _AB B?
'(aa:—}—b)z ax —b cr+d
A N AB N B?
.(am—i—b)z ar +b cxr+d
A AB B?

'(ax—b)z a:c—l—b+c:z:—d

Answer: C

o Watch Video Solution

1 A 1
88. I — B2l —

(z—a)(z®+d) =z—-a 2*+b (z — a)(x2 + b)*

A? +A(B:n%—C’) N Bz +C

r—a z2 4+ b (22 + b)*

A? A(Bz — C) Bz + C
+ +

r+a z? +b (22 — b)



https://dl.doubtnut.com/l/_jfLWOH23YjpV
https://dl.doubtnut.com/l/_RTIxuuyTSMcu
https://dl.doubtnut.com/l/_6cXHQRTI2poh

4> ABr+0)  Ba-C

C. +
T+a z2 4+ b (22 + b)°
2 A(Bx — C
. A N ( ) N Bz +C
T —a z2 —b (22 — b)®
Answer: A
° Watch Video Solution
89. To find the coefficient of z* in the expansion of 3z e

, th
(z —2)(x — 1)
interval in which the expansion is valid, is
A-2<z <00

B 1 1

C-l<zx<«l

D.—oo <z <

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_6cXHQRTI2poh
https://dl.doubtnut.com/l/_ErSsL9P5vieO
https://dl.doubtnut.com/l/_lxqndueav8Ns

o + 6 s
(2+a)(1-2)

90. The coefficient of z° in
A.15/2
B.15/4

C.5/2

D.5/4

Answer: B

o View Text Solution

91. If |z| <1 then the coefficient of z?

5 is
(z —2)(z + 1)

in the expansion of

5 38
32

5 33
T3

¢ 3
32

31

D.——
32


https://dl.doubtnut.com/l/_lxqndueav8Ns
https://dl.doubtnut.com/l/_ouqV3AAjGb4v

Answer: B

° View Text Solution

92. The coefficient of " in the expansion of

1 1
A. 2n—1 o 3n—1
1 1
B. gn+2 o gn+2
1 1
C' 2n+1 o 3n—1
1 1
T
Answer: C

r2 —

T +

for|x| < 1is

° Watch Video Solution

z—4 .
s

93. The coefficient of 2" in ——— |
x2 —bx+6

1 1
) 37L+1 _2_n



https://dl.doubtnut.com/l/_ouqV3AAjGb4v
https://dl.doubtnut.com/l/_WbGfMlSZnFle
https://dl.doubtnut.com/l/_H29OVkax2lcD

1 1

Bt o

1 1

) 5n+1 +2_n
1 1

T T

Answer: A

° View Text Solution

4
94.1f — =

can be expanded in the ascending powers of z, then
z? — br +

the coefficient of z° is

—173
648

73
648

71
648

—-71
D. ——
648

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_H29OVkax2lcD
https://dl.doubtnut.com/l/_XbhdZEMACOd7

95. The coefficient of 2" in is

(z — a)(z - b)

Aa”—l—b” 1
“a—b a"b"

a” — b" 1
a—2>b anb”
a” — b" 1
a+b a™b"
g
Answer: B

o View Text Solution

1 :
s

96. The coefficient of " in i
(1—2z)(1— 3z)

A 3n+1 o 2n+1

B. 3n+1 + 2n+1
c.3ntl —onl


https://dl.doubtnut.com/l/_XbhdZEMACOd7
https://dl.doubtnut.com/l/_MU2peZC4fEaF
https://dl.doubtnut.com/l/_TlkplhxYHK06

Answer: A

° Watch Video Solution

1
97. For |z| < —, the coefficient of 2°® in the expansion of

5 ’
1

(1—5z)(1 — 4x)

is

A. 369

B.370

C.371

D. 372

Answer: A

° Watch Video Solution

1
98. If the expansion in powers of x of the function is
(1—az)(1— bx)

ayg + a1 + a2m2 + a3x3 + ..... + a, then coefficient of " is


https://dl.doubtnut.com/l/_TlkplhxYHK06
https://dl.doubtnut.com/l/_u64l3YpNMqKj
https://dl.doubtnut.com/l/_WZDqcgwbdhnv

Answer: B

o Watch Video Solution

1
99. The coefficient of " in is
(1—2)(1—2x)(1— 3z)

3n+2 o 2n+3 + 1
2
5 3n+2 + 2n+3 -1
) 2
3n—|—2 - 2n+3 -1
2

5 3n+2+2n+3+1
' 2

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_WZDqcgwbdhnv
https://dl.doubtnut.com/l/_9FXWX40IUF5i

100. The coefficient of "

A12-30-2"+20-

B.12+ 302" + 20 -

C.12+30-2"—20-

D.12 —30- 2" + 20 -

Answer: A

in

3'ﬂ

3n

31’L

3n

(1+2z)(1—2x)(1—3z) |

(1—2)(1—2x)(1— 3z)

IS

o View Text Solution

101. The coefficient of "

1
A.1—n—2—n

1
Bl—n—l—?

1
C1—|—n—2—n

r+1

in

(@-1z-2)

is



https://dl.doubtnut.com/l/_9FXWX40IUF5i
https://dl.doubtnut.com/l/_GB1f1lPRhB9v
https://dl.doubtnut.com/l/_rJfAwwFWfLy7

D.1+n+ —

Answer: A

° Watch Video Solution

1
102. The coefficient of " in m _: is
(z — 1) (xz — 2)
3
Al—2n—
2n+1
3
B.1—2n —
2n—1
1+2 3
Cl+2n+ n+1
D.1+ 2n — —
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_rJfAwwFWfLy7
https://dl.doubtnut.com/l/_C9OMj1WN0f4V

1
(z - 1)*(z - 2)

103. For |z| < 1, the constant term in the expansion of

A2
B.1
C.0

D.—1/2

Answer: D

o Watch Video Solution

2’ +1 is
(@ 1 4)(z — 2)

104. The coefficient of z° in


https://dl.doubtnut.com/l/_gDx9dYNA2SQH
https://dl.doubtnut.com/l/_f5w3joS2miiQ

b —1
" 256

Answer: D

° View Text Solution

3x2 + 2z

105. The coefficient of z* in is
(22 + 2)(z — 3)

75
326

7
324

66
248

58
D. —
226

Answer: B

° View Text Solution

Exercise 2 Set 1


https://dl.doubtnut.com/l/_f5w3joS2miiQ
https://dl.doubtnut.com/l/_nvUw9lm9v3Lr
https://dl.doubtnut.com/l/_NIT9rAusif9m

1. The remainder obtained when

the polynominal

1+ + 2%+ 2% + 2% + 28 + 223 is divided by x-1is

A.only lis true

B.only Ilis true

C.both I and Il are true

D. neither I nor Il true

Answer: C

o Watch Video Solution

2, I : The partial
2z + 3 9 1
are —
(z 4+ 1)(x — 3) 4(x—3) 4z +1)
2

Il : The partial fractions of
P (z + 1)(z + 3)

A.onlylis true

B.only llis true

fractions
1 1
z+1 z+3

of


https://dl.doubtnut.com/l/_NIT9rAusif9m
https://dl.doubtnut.com/l/_ARVe2UrQ9qr5

C.both I and Il are true

D. neither I nor Il true

Answer: C

° Watch Video Solution

2 1 B C
3.I:Ifi= + + then A+ B+ C =0.
x2+ 2z +1 z+1 (w—|—1)2
242 3 A B C
nf 22T 2 P9+ 2 then A+B-C =0
z3 r z3

A.only lis true

B.only Il is true

C.both I and Il are true

D. neither I nor Il true

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ARVe2UrQ9qr5
https://dl.doubtnut.com/l/_gWKPKLIvpZ3d

Exercise 2 Set 2

1.If

2 +5x+7 A B C )
T = + 5 + 3 then the ascending
(x — 1) r—1 " (z-17° (z-1)

order of A, B, C is

A.AB,C
B.B,C,A
C.GAB

D.B,AC

Answer: A

o Watch Video Solution

222 + 3 4 A B C
2.If rr T = + s then the ascending order of
(z—1)(z2+2) =z-1 z? + 2

AB,Cis

A AB,C


https://dl.doubtnut.com/l/_HrFPQobIrBbW
https://dl.doubtnut.com/l/_r8cuAb9I47pf

B.B,C, A

C.C,AB

D.B,AC

Answer: B

° Watch Video Solution

z? + 13z + 15 A

B

C

3. If

descending order of A,B, C is

A.AB,C

B.B,C, A

C.C,B,A

D.B,AC

Answer: C

= +
2z +3)(z +3)* 2¢+3 =43

(z + 3)°

then

the

o Watch Video Solution



https://dl.doubtnut.com/l/_r8cuAb9I47pf
https://dl.doubtnut.com/l/_nsnISUOO9mmN

Exercise 2 Set 3

1. Match the following.

3z 2 1 _
I. If T8 (oh) — 76 T R then k = a) 0
3z —6 2 1 —
1. 1f I R e T then k = b) 3
z—4 2 1 _
III. If ok 33 ik then k = c) —1
v, If -l AsiB o CedD  yhepn p= d) -3
zt+ 24 +1 zé+z+1 ¢+ kr+1
A.c,d,a,b
B.b,a,d,c
C.c,a,b,d
D.c,b,a,d

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_nsnISUOO9mmN
https://dl.doubtnut.com/l/_mYB5TeQZgv6V

2. Match the following.

Ioaf =t2 Ay Br oyhen B

4z z2+1 a)
4 A B _
IT. If % = S5 4 —— then A= b)
3z+2 A B
III. If o~ 3z + 1 then A = c) —3/2
2z +1 _ A Bz +C _
Iv. If GO () o1 T then B= d) —4/3
A.c,d,a,b
B.b,a,d,c
C.c,a,b,d
D.c, b, a,d
Answer: B
o View Text Solution
3. If
2w3+3m2+5m—|—7_ A B C D
(z+1)° (z+1)° (z+1° (@+1* (z+1)°


https://dl.doubtnut.com/l/_CqyAVYsQ6vnx
https://dl.doubtnut.com/l/_HmuYPswxPA6r

then match the following.
1. A= a) —3
II.B = b) 2
Ir.¢c= <C) 3
IVv.D= 4d) 5
A.c,d,a,b
B.b,a,d,c

C.c,a,b,d

D.c,b,a,d

Answer: B

o Watch Video Solution

Exercise 2 Set 4

5 + 1 A B
LA:If - then A =3, B = 2.
e12)@-1 X+2 z_1
px + q pa + q pb + q

T_a@-b) @_a(a-b  (b-a@_b)



https://dl.doubtnut.com/l/_HmuYPswxPA6r
https://dl.doubtnut.com/l/_AMTK6M5o8cNg

A.Both Aand R are true and R is the correct explanation of A

B. Both A and R are true but R is not correct explanation of A

C.Ais true but R is false

D. Ais false but R is true

Answer: A

o Watch Video Solution

2 a If
1 A B C 1 1
- 7% them A==,B= - =,C=
(z —2)(z2+1) =z —2 z? + 5 5
R 1 _ 1 1 z+a

(r —a)(z®?+b) a’+blz—a z22+D

A.Both A and R are true and R is the correct explanation of A
B.Both A and R are true but R is not correct explanation of A
C.Ais true but R is false

D. Ais false but R is true


https://dl.doubtnut.com/l/_AMTK6M5o8cNg
https://dl.doubtnut.com/l/_G5cdQzWBl67Y

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_G5cdQzWBl67Y

